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Part 1: Building a Foundation

What was the primary economic difference between the Northern and Southern states before the
Civil War?

undefined. The North was primarily agricultural, and the South was industrial.
undefined. The North was industrial, and the South was agricultural. ✓
undefined. Both were primarily industrial.
undefined. Both were primarily agricultural.

The North was industrial, and the South was agricultural.

Which of the following were key legislative acts related to slavery before the Civil War?

undefined. Missouri Compromise ✓
undefined. Compromise of 1850 ✓
undefined. Kansas-Nebraska Act ✓
undefined. Homestead Act

Key legislative acts include the Missouri Compromise, Compromise of 1850, and Kansas-Nebraska Act.

Explain the concept of states' rights and how it contributed to the tensions leading up to the Civil
War.

States' rights refer to the idea that states have certain rights and political powers independent of the
federal government, which contributed to tensions over issues like slavery.

Name two influential figures during the Civil War era and briefly describe their roles.

1. Name an influential figure from the North.
Abraham Lincoln
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2. Name an influential figure from the South.
Jefferson Davis

Influential figures include Abraham Lincoln, who led the Union, and Jefferson Davis, who was the President
of the Confederacy.

Part 2: Understanding and Interpretation

Why was the election of Abraham Lincoln in 1860 significant to the Southern states?

undefined. He promised to expand slavery.
undefined. He was a strong supporter of states' rights.
undefined. He was seen as a threat to the institution of slavery. ✓
undefined. He planned to abolish all tariffs.

Lincoln was seen as a threat to the institution of slavery, which alarmingly influenced Southern states'
decisions to secede.

How did the abolitionist movement contribute to the start of the Civil War?

undefined. It increased tensions between the North and South. ✓
undefined. It led to the immediate end of slavery.
undefined. It caused Southern states to secede. ✓
undefined. It influenced Northern policies against slavery. ✓

The abolitionist movement increased tensions between the North and South, leading to Southern states'
secession.

Describe how economic differences between the North and South influenced their respective
stances on tariffs and trade policies.

Economic differences led the North to favor tariffs to protect its industries, while the South opposed
them due to reliance on exports.

Part 3: Application and Analysis
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If a new territory was being added to the United States during the Civil War era, what would be a
likely concern for both Northern and Southern states?

undefined. The territory's climate
undefined. The territory's population size
undefined. Whether the territory would be free or slave-holding ✓
undefined. The territory's natural resources

The primary concern would be whether the territory would be free or slave-holding.

Imagine you are a Southern politician in 1860. Which arguments might you use to justify secession?

undefined. Preservation of states' rights ✓
undefined. Economic independence ✓
undefined. Expansion of industrialization
undefined. Defense of slavery ✓

Arguments for secession would include preservation of states' rights, economic independence, and defense
of slavery.

How might the concept of sectionalism be applied to understand current regional differences in the
United States? Provide an example.

Sectionalism can explain current regional differences, such as economic disparities or cultural
identities, with examples like the South's agricultural focus versus the North's industrial base.

Part 4: Evaluation and Creation

Which event best illustrates the breakdown of national unity leading up to the Civil War?

undefined. The signing of the Declaration of Independence
undefined. The Dred Scott decision ✓
undefined. The Louisiana Purchase
undefined. The War of 1812

The Dred Scott decision best illustrates the breakdown of national unity as it heightened tensions over
slavery.
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Analyze the impact of the Compromise of 1850. Which of the following were its effects?

undefined. It temporarily eased tensions between North and South. ✓
undefined. It led to the abolition of slavery.
undefined. It included the Fugitive Slave Act. ✓
undefined. It resolved all sectional conflicts permanently.

The Compromise of 1850 temporarily eased tensions and included the Fugitive Slave Act, but did not
resolve all conflicts.

Analyze the role of cultural differences in exacerbating tensions between the North and South.
Provide specific examples.

Cultural differences, such as views on slavery, economic practices, and social structures,
exacerbated tensions, with examples like the North's industrial focus versus the South's agrarian
lifestyle.

Which of the following was the most significant cause of the Civil War?

undefined. Economic differences
undefined. Slavery ✓
undefined. States' rights
undefined. Sectionalism

Slavery is often considered the most significant cause of the Civil War, as it was central to the conflict.

Evaluate the effectiveness of political compromises in delaying the Civil War. Which of the following
statements are true?

undefined. They provided temporary solutions but failed to address underlying issues. ✓
undefined. They completely resolved sectional tensions.
undefined. They often led to further conflicts. ✓
undefined. They were universally accepted by all states.

Political compromises provided temporary solutions but failed to address underlying issues, often leading to
further conflicts.

Propose a hypothetical solution that could have been implemented to prevent the Civil War. Justify
your proposal with historical context and reasoning.
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A hypothetical solution could involve a gradual emancipation plan that addresses economic
concerns, potentially easing tensions between North and South.
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